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1. Mike enjoys biology because he likes to learn about living things.
(A) to study (B) studies (C) study (D) studying
2. Do you know ?

(A) where is the police station (B) the police station is where (C) where the police station is (D) is where the police station

3. I wanted to pay for lunch, but Jimmy that he should treat me.

(A) offered (B) available (C) reminds (D) insisted
4. DI'mtired because I  until midnight last night.

(A) stayed up (B) woke up (C) got up (D) cheered up
5. Tcan’tstand Sam’s  behavior anymore. He only cares about himself.

(A) honest (B) selfish (C) tolerant (D) generous
6. The  , alittle girl, cried and told the doctor about her stomachache.

(A) shelf (B) patient (C) strawberry (D) stone
7. The food in this restaurantis ! I’ll definitely come again!

(A) chubby (B) silver (C) strange (D) yummy
8. We should  our used items to help reduce waste.

(A) recycle (B) achieve (C) expand (D) conclude
9. It’s considered polite to  your seat on the bus to an elderly passenger.

(A) take over (B) call off (C) give up (D) break down

10. The students lined up and underwent the physical examination

(A) by chance (B) in turn (C) for good (D) on duty
11. Teenagers can be easily by their idols in many ways.

(A) sought (B) influenced (C) clicked (D) questioned
12. Irene took some pillsto  her headache so that she could fall asleep more easily.

(A) increase (B) indicate (C) case (D) doubt
13. Thave never watched a tennis __ because I don’t understand its rules.

(A) snack (B) shelf (C) stage (D) match
14. The government is trying hard to raise public _ of environmental protection.

(A) fitness (B) device (C) organize (D) awareness

15. Mom: Where is your father? Son: He is

(A) fine (B) cooking (C) 40 years old (D) in the kitchen
16. He used to live in the country, but now he is used to in the city.
(A) live (B) be living (C) living (D) have lived



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Tim seldom watches TV. He prefers videos on his computer.

(A) watch (B) watched (C) to watch
Franceis  for its wine and fine food.

(A) including (B) famous (C) regular
Stan is my brother. He is three years older than me.

(A) elder (B) younger (C) little
She by the store on her way to work this morning.

(A) pass (B) past (C) passed
Mark got the fluandhada  nose.

(A) wet (B) rainy (C) runny
Her incomeis  to support her family.

(A) effective (B) formal (C) forceful
Ted drinks lots of water every dayto  colds.

(A) prevent (B) predict (C) present
The new movie is

(A) exciting (B) excited (C) excitement

Some of my friends work on Sundays, but others .

(A) didn’t (B) don’t (C)do
He has been studying English ~ ten years.

(A) of (B) during (C) through
We had already ~ the movie before Ron told us about it.

(A) seen (B) saw (C) see
You might get sick staying out in such cold weather. You  wear a coat.

(A) had better (B) are (C) need
I’ll be looking forwardto ~ you soon.

(A) seeing (B) see (C) saw

After eleven p.m., we should the volume of our TV sets.

(A) turn down (B) tie up (C) pick up
The accident right in front of my house.
(A) tried on (B) took place (C) asked for

Every student should spend two hours on his homework every night.

(A) so far (B) on time (C) at least
I this morning very early but did not get up until about nine o’clock.

(A) put on (B) woke up (C) made believe
Mr. Lee is very humorous. Are you interested in _ his class?
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(D) watching

(D) universal

(D) twin

(D) was passing

(D) watery

(D) sufficient

(D) bring

(D) excitingly

(D) doesn’t

(D) for

(D) seeing

(D) ought

(D) having seen

(D) keep up with

(D) wore out

(D) at last

(D) showed off



(A) take (B) taking (C) takes (D) took
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Questions 35-39

Do you spend too much time watching TV or playing video games? Everyone  (35)  that once in a while. The point is that we
shouldn’t do it too often. If we don’t learn to _ (36)  ourselves, we can develop some bad habits. The same goes for eating junk
food. (37) ,1itis all right to have some soda, but you should limit yourself to only one or two bottles a week. There is also

_(38)__ wrong with sleeping late as long as you don’t do it every day.  (39)  strong and you’ll have good habits and reach your

goals.
35. (A) has (B) does (C) can (D) is
36. (A) control (B) solve (C) avoid (D) practice
37.(A) Yet (B) Above all (C) Then (D) For example
38. (A) something (B) nothing (C) everything (D) anything
39.(A) To be (B) Being (C) Be (D) Been
Questions 40—44

Wendy can’t get online, so she calls her friend Jill for help. Jill says she  (40)  ask her neighbors if they’re having the same
problem. Wendy already did that. Finally, Wendy decides to run around right now with her  (41)  looking for a wireless
connection. She ~ (42)  to log onto Facebook at the coffee shop, but the connection is very slow. Wendy asks Jill if she would like
to come over to her house. Jill _ (43) . Jill can’t leave work early, because her boss  (44)  allows anyone to go before 6:00

p.m. Wendy can only wait.

40. (A) want (B) ought (C) should (D) buy

41. (A) laptop (B) camera (C) printer (D) MP3 player

42. (A) try (B) to try (C) tried (D) tries

43. (A) pays (B) reports (C) agrees (D) buys

44. (A) often (B) always (C) usually (D) rarely
Questions 4547

There is a new kind of bus running in England. This bus doesn’t need gas. What it runs on is garbage and human waste. The bus

has a special system that turns garbage and waste into fuel. The bus is called the “Bio-Bus,” but it has a funny name. People call it the
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“Number Two Bus.” When the Bio-Bus has a full tank, it can travel around 300 kilometers. Although a regular bus can travel much

farther, the Bio-Bus makes less pollution.

45. What is the passage about?
(A) A new kind of bus.
(C) The person who made the first “Number Two Bus.”
46. What does Bio-Bus run on?
(A) Gas. (B) Wind.
47. How are a regular bus and a “Number Two Bus” different?
(A) “Number Two Bus” travels farther.

(C) A regular bus makes more pollution.

Questions 48-50

(B) How the Bio-Bus pollutes the environment.

(D) How fast the Bio-Bus travels.

(C) Garbage. (D) Water.

(B) A regular bus has a bigger tank.

(D) A “Number Two Bus” runs faster.

After a long day, running doesn’t seem fun. We would rather relax. There’s a natural reason for our laziness. In the past,

ancient humans needed to save energy. Then they could run away from danger. It became part of their nature, and they passed this

nature down to us. However, we don’t need to save as much energy as those ancient humans. We should be active each day, even

if it’s just a short jog.

48. What is the passage about?
(A) Why humans are lazy sometimes.
(C) A short jog is the best exercise.
49. Why did ancient humans need to save energy?
(A) So that they could hunt in forests.
(C) So that they could grow rice on farms.
50. What does the passage suggest that we do?
(A) Run long distances every day.

(C) Save as much energy as possible.

(B) Saving energy is important for us.

(D) Running is not interesting.

(B) So that they could run away from danger.

(D) So that they could keep more animals at home.

(B) Find a reason for laziness.

(D) Be active every day.
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